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Only because there is a 1% - 137 RSORT NON

OVERVIEW

The X3 cited the npYonn between 7" 7777 27 and 337 "M 1" concerning
Xnw "2, It also stated that PR rules like X" HX°923 127 that the woman is
believed and receives the entire 721> from the %¥a. The X3 originally
maintained that a) 2Xnw agrees with 73" "9 that 97y 2 w"a and b) the
npYonn between 71" 2" and °"1 1" parallels the npY»nn in our 7Iwn between
X" 1"7 and >"1. The X713 then rejects this idea, and maintains that the 17 of
our mwn in not (so) dependent on w™2. Even those who maintain X7 w"2
7°7¥ 72 can nevertheless, agree with X"71 3"7 of our 7Iwn. The X nx offers
two reasons why even 7 "1 1"1 (and 9Xmw) will agree that the woman
receives her 12w02. It is either because she has a °n, or because she is
supported by a apm.
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This answer, that since the WX has a 13°n, therefore even those who usually
maintain that a >72 cannot be XX from a X2w who i1s a pP1in, nevertheless
they may agree with 713°2% *271 HX°%13 127 of our mwn, that the 7wX could
collect her entire 72105 from the %¥3, for in the 71wn the woman has a W»;
this answer is not valid for all those who maintain that 77y *72 W2 w"13, it is

valid only according to 1'% —
- 1999 N7 1 839 *\Y “nomT *Nenna yny saqY

" That is why he rules like X" 3" of our nvwn.

* In the case of Y70 *PX 9K 79 77°2 % M, there is no Wn or 7P to support the mn. However by our
n11wn the claim of the AWK (who is a *73) is (also) supported by either a °» or a 7pIm.

3%, 77. She claims she was merely a ¥ nav. He claims that (perhaps) you are a 72w3.

* A yv nom is a woman who lost her 29102 due to physical trauma; but she is not a 79wwa. The literal
translation is ‘struck (by) wood’.

> There is a NP2 between »"7 and the 0°»n (in a 73WnH on X,X° A7), concerning the 72103 of a ¥ n>w. The
0°mOn maintain that her 72103 is (only) a 711, while »"9 maintains that her 7712103 is the full a»n&n. There is
an additional np17nn (of @°X7MX on 2,%° 77) what the 7 is in a case where the husband assumed that his
betrothed is a 79102 and it turned out the she was a 772 before the 1°017°X. Some maintain that she loses the
entire 721n2; while 737" "7 maintains that she receives a 711 (see following footnote # 6).

6" maintains that 79192 XX 79102 NPIRa 7013, she has a 73 7203, Therefore he interprets the following
7awn of Yy nomn, that she is claiming a 72112 of onXn (following the opinion of »n"7), while he claims that
he owes her only a 7. According to *"9, this woman has no °»; there is no other claim she can present,
where she would be either more believed or receive more money. Those who maintain that in a case of 77013
722 NRYAN 72102 npina she receives no 2D at all; they can interpret the mawn of ¥ according to the
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for according to °''v who also maintains 77y °92 X7, this answer is not
appropriate, for in that case (in the following mwn) concerning a y¥ nsm
there is no s for the woman as is evident later in the x13; and nevertheless
X"91 2"7 maintain that the woman is believed (without a 2°»n). The current answer, that she

has a 2, will not explain how 71mM° "1 can agree with X"711"7 in the case of yv now; for
she has no wn.?

mooin presents a difficulty:
= NN INMIWT NN 397 RN TN DY ININ Y7920 APy a9 290 NYPN

The >'"1 of %'"»271p asked, we still must maintain that the ruling of >''4
concerning 9°7¥ 72 Xnw1 3, is identical to the ruling of PR that the 7257 is

77 °72 WA, PRI must agree that ¥"2 w"3; not necessarily because he rules like 3",

but rather for another reason which n1901n continues to explain:
— (:0W1 &,3% 97 xp30 833) IRIYNT PIINNND DY SVUPN NV HNINYY INT

For if »Xmw maintains that by w12, the XaW is 992 from paying, then HRvw

will be contradicted from the ;73w in Y857 P79, which states' that if —
— 291 Y199 2N N 19N NN NDINY MIN IINUNN

The lender claimed that the borrowed animal died (and therefore, as a
borrower, the X is 1°013%2 21) and the borrower says I do not know if it
was the borrowed animal that died; it could be that it was the rented animal
that died (in which case a renter is PP01WR2 MWY), the 17 is that he is 2397 to

pay. It is evident from that miwn that 579 >32 Raw) *72; which would be a X*wp on PXmnw if
he would maintain that 7°7¥ 32 R5.

mooIN anticipates an obvious answer and rejects it. There are those (33 "1 1"7) who
clearly maintain 7°7v *12 W% w"32; they interpreted that 71wn in PXW1 so that it would not
contradict their opinion. Let us interpret that 73w in the same manner according to ?Xnw
as well. mvo1n will explain that this is not possible.

— 119352 NAY POY YIY 111D 1IN 23999 119N 39D %WNTd IYH X HNmYH1
For according to ®X1»w we cannot answer this question from the 71wn in

Sxwn as we answered it for '™ 1''n who maintain that 9°7¥ >72 W2 w"a.

1127, where she is claiming (merely) a 71n. According to them, the woman has a 2 for she could have
claimed I became a y¥ nam after the 1017°X; in which case she would be owed o> nX». However according
to *"7 there is no 13°» for (even) as a y¥ N2 before 1°017°K she is entitled to receive D> nKA.

TR q7 [it would be advisable to peruse that X°310 for a better understanding of this m»on] .

¥ This may be why the X») gives an additional answer that in these nawn the woman is believed because
she has a pim. This answer applies to 131> "1 as well; that he may agree to X"713"9, even in the case of ¥" .
? That can be explained on account of » or AP,

' See previous X171 27 71"7 Moo footnote # 21.
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Our m»doIN mentioned the answer for °"71 1"7, and explains why it is not
suitable for PXmw. The answer was that the mwn in X in discussing a
case where for instance, there was an entanglement of an oath between

them; the "X was obligated to take on oath for a different claim which the %*xwn had
against him. There is a rule of 72w 93%); once a defendant is obligated to swear, the
plaintiff may ‘roll’ on the defendant an obligation to take additional oaths for other issues
between them. In our case, the ?XW had to swear for the 2°Xwn for another case. The
5xwn can then make him swear in this case of the borrowed/rented animal (that the
rented animal died). The 9% however, cannot take the oath that it was the rented animal
that died, for he himself agrees that he is not sure which animal died. Therefore, in such a
case the ruling is —

= DHYWN YawrY D192 1IRY TINND)
And since he cannot swear, he must pay. The mwn obligates the X to pay not
because he is a Xnw. A M2 cannot be XX from a &nw. The reason the X has to pay
because there was a 712w 21°1 on him which he could not discharge. If one cannot take
the oath, he suffers the consequences and must pay up.

This is the explanation of the mawn according to >"1 1"7. However this explanation is not
valid for "Rmw —
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For Y@ clearly maintains' in $pawst %2 P78 that if the oath cannot be taken
for any reason, then (we do not say o2wn yaw°h 715° 1R 7nA, but rather) —

= DHYYN XD 2P0Y DAY NINT

That the oath returns to s 97; Hashem will deal with it and the
defendant does not pay. Therefore we cannot answer that the mwn in SXwn is
discussing a case of nyaw 2123, Even if the °mw is obligated to swear on account of the
2193, however, since he cannot swear, he is not obligated to pay (according to PXmnw).
The question remains that how can we possibly say that YR disagrees with 17"91°"9 and
maintains that 7>7v 72 % w"2; how will he then explain the 73w» in PXWn where the 12
is 7>7v and the X is required to pay.

N1B0IN answers:
- IV HNINYY P15 3R MIN NI 7153 59 NI DIYST 1Y KIINT 1YY W

and one can say that it can be said, that in truth'? in a case where the Mo
claims you have my 1% in your possession; you owe me a 732 and the m>

' See previous X171 21 71"7 Moo footnote # 1.
12 What follows is not something that we must say (that X maintains f°7¥ 32 W w"13), but rather what
OXW can possibly maintain. In reality though, XMW can just as well maintain that 7°7v ™2 w".
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claims I do not know if T owe you a min, that according to »X1»w the M is

"YU from paying; and concerning the 73wn in PR —
- YAV POY YIWI HNIYNIT PNNINND INNIY P11

bxmw will establish that the 7w in YXwi is discussing a case that there

is an entanglement of a 13w between the 2°Xwn and the 2Xw; the same answer
that "1 1"1 give. The reason the X has to pay, even though >Xnw does not maintain
n'">Rwn, is because ?Xmw will insist that the 7w» in 2% follows the opinion —

- NI TTOND 920 XYY DIWN YAWOY 9199 139RY TINN %Y 1INT NI NINN)

of that NXin who does maintain that »'9Xwn; and 5X Y himself
maintains like the other Rin; that we do not say »"°Xwn, but rather >0% 712w 7mM

(ow) PYAIVN D P93 NI ININT NONMDIT

For it is a dispute among 2°Xin in PYawT 95 P18, “whether we say n"7’Xwn or
0% avaw an. Therefore the mwn in PXwn follows the opinion of the Xin who
maintains n"2°Xwn, while XY follows the opinion of the other Xin that we say 77m
792w, According to PRmWw by a Xnw 3, even if the XWw is 21 a 7312w, nevertheless he
may be Md; for PXMYw may maintain that 7°7v >92 X% "2 and by a yaw? 912 WRY we

say *1'0% 7y12w 7711 and he does not pay.
:[R217 29 oIART M7 MO 2,73 RO K22 NSO NN M2 PO

SUMMARY

In the case of a Yy nd>m, °"7 cannot agree with X" 3"7 based on the
explanation of 137 (alone).

XMW can disagree with the mwn in PXwn that requires the X»w to pay (on
account of 72w 173 and n"2°Rwn); for HXmw will follow the opinion of
those 2°X1n that maintain >1°0% 712w 73777.

THINKING IT OVER
1. Is there any connection between the first part of m501n (concerning ")
and the subsequent question and answer (concerning 7X1mw)?

2. The %"2Mpn "7 asks that PX1W must maintain 77y "2 w™2. What
difficulty is there if we accept that assumption?'*

13 The xma there states that X" derives the 17 of n"2XWwn from a Xn»12 which teaches the w17 on the 70
QY "2 AN 71 0¥1aw and not PWAT 12 (see previous X117 27 i1"7 Moo footnote # 3). Others (who disagree
with R"1) cite another Xn»12 that the 07°1w P2 P09 teaches us something else and not 2°wAv7 P2 R,
Therefore, there is no source for the 1°7 of n"?Xwn. It is these NN>2 that OO may be referring to when
he says that »"2°Xwn is a D°Xin npY2NA.

' See mop MR XN WL
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3. When m»oin asked the question on 2X1w, was he not aware that there is a
0°KIN NPYoMA concerning n'" Rwn?"

4. How can the X713 have originally assumed that 7717 "1 7"9 (who maintain
77y »12 w"32) follow the opinion of X"71 3" in the 71wn? In the 71wn the w2
1S a 210 XYY ¥173 72, We have learnt in the previous mdoin that by a v"wia2,
that *" rules that 7"vnn!!'°

15 See np mx n"na"n.
' This question is (more) relevant to the previous L1521 MooN!
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